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Study of schizophrenia gsin% methamphetamine animal models from points of view
of immune and inflammation factors
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In this study, we examined the effects of inflammation on schizophrenia

symptoms. We evaluated the effects of acute inflammation as measured by the behavioral sensitization
observed in mice treated with continuous methamphetamine, a classic model of schizophrenia. The
results showed that acute inflammation induced prior to behavioral sensitization by
lipopolysaccharide (LPS) or restraint stress (RS) treatment suppressed behavioral sensitization.
Furthermore, it was found that this inhibitory effect was blocked by pre-treatment of COX-2
inhibitor for LPS treatment and by treatmentof anti-TNF alpha antibody for RS treatment. These
results suggest that acute inflammation suppresses behavioral sensitization, and the mechanism of
this suppression may differ depending on the type of inflammation.
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